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Y 55 m (e L)

(1)3+5= (2)2+6=
+ +

(3)4+5= (4)5+2=
+ +

(5)6+3= (6)7+2=
+ +

(7)845= (8)9+6=
+ +

(9)T+7= (10)6+8=
+ 1§




E SR R ACERE 572D

(1)5-3= (2)6-2=
(3)9-5= (4)7-2=
(5)8_; (6)3_;
<7>4“1 (8)9_;
<9>1é-7 (10);;8




R F

(1)2+5= (2)346=
(3)3+5= (4)449=
(5)7-3= (6)8-6=
(7)9-5= (8)6-1=
(9)7-4= (10)8-2=




Y 55 m (e L)

(1)4+5= (2)3+6=
+ +

(3)5+5= (4)6+2=
+ +

(5)6+5= (6)8+2=
+ +

(7)8+6= (8)5+6=
+ +

(9)8+17= (10)9+8=
+ 1§
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(1)5-2= (2)6-3=
(3)9-5= (4)5-2=
(5)8_; (6)3_;
(7)4_; (8)9_;
<9>1;-7 (10);;8
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(1)3+5= (2)446=
(3)6+5= (4)445=
(5)8-3= (6)8-4=
(7)9-6= (8)5-1=
(9)9-4= (10)7-2=




Y 7R

1. 3+5= 2. 2+6=
+ I
3. 4+0= 4. 5t2=
+ I
9. 6+3= 6. T+2=
+ I
7. 8+5= 3. 9+6=
+ I
9. 1147= 10. 13+5=
+ +




Y 55 m (e L)

(1)6+5= (2)8+6=
+ +

(3)9+5= (4)5+4=
+ +

(5)9+3= (6)7+8=
+ +

(7)845= (8)9+6=
+ +

(9)T+17= (10)6+8=
+ 1§
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(1)6-3= (2)5-2=
(3)9-T7= (4)8-2=
(5)8_; (6)3_;
(7)1é-3 (8)1;_6
<9>1é-7 (10);;8




R F

(1)3+5= (2)446=
(3)6+5= (4)445=
(5)8+7= (6)8-4=
(7)9-6= (8)5-3=
(912-4= (10)16-9=




R F

(1)T+5= (2)545=
(3)4+8= (4)246=
(5)9+3= (6)9-3=
(7)7-6= (8)5-5=
(9)13-8= (10)17-9=




R F

(1)11+45= (2)7+7=
(3)6+8= (4)9+6=
(5)9+3= (6)19-3=
(7)17-6= (8)15-7=
(9)13-8= (10)17-9=




